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( Two- tios )
Y Two-Step Inequalities )

Solve and graph the following inequalities.

1. -3x +5<-16
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" Preview

Please log in fo download
the printable version of this worksheet.

Write and solve an inequality to represent this situation. Then graph the inequality on a
number line.
inequality:
solution:
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Lauren can go on at least / at most rides.

(circle one)
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ANSWER KEY

(" Two- tios )
L Two-Step Inequalities )

Solve and graph the following inequailities.

1. -3x +5<-16

Lauren can go on at least / s rides.

(circle one)
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